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/* declares: ssize t read(int fd, void *buf, size t n) */
#include <unistd.h>

/* an example for using read() system call */
char buf[128];

\  Open file
Y File descriptor



/* nr bytes has been read into buf from FD 0 */
ssize_t nr = read(0, buf, 128);
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/* declares: ssize t write(int fd, void *buf, size t n) */
#include <unistd.h>

/* an example for using write() system call */
char buf[] = "Hello World!\n";
/* nw bytes has been written from buf into FD 1 */

ssize_t nw = write(l, buf, 12);
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FILE *fp = fdopen (fd, "w");
fprintf (fp, "Hello\n");
fclose (£fp);
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int £ds[2];
pipe (£ds) ; /* £ds[0] for reading and fds[l] for writing */
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char buf[100];

pipe (fds);

if (fork()) { /* the parent process; writing */
close (fds[0]);
write (£ds[1l], "Hello\n", 6)

} else { /* the child process; reading */
close(fds[1]);
read (£ds[0], buf, 100);

\  Pipe
Y Buffer
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